[19;:9:9:9:9:9:9:9:0:9:9:9:9:9:9:0:9:0:0.9:9:0.0.0.0.0:0.:9:9:0.9:9:0.0.0:9:0:0:0:0.0:9.:0.0:0.:0:90:9.0:9:9.:0:0:0:0.0.9:0:0.0:0:0.0:0:0.9.0:0.9:0.0.0.:0.0.0.¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXXKXXKXXKXXXKXMS/1-6300108-00001XX
TrigonometryExercise8 for No.9012

Nol =[D=96,a=30°B=60"]
No2=[a=7,b=9, o=45]
No3=[x=78,a=30°y=120]
No4=[a=75,b=225h=185]
No4=[h=170,N=15,H=5,D, = West, o.=45°, D, = South, p = 35°]
No4=[h=107, H=178, a = 35°]

Nod =[H=270, o.=70° B =45°]
):9:9:9:9:9.9:9.9.9.9.9.9:9.:9:9.9:9.9:9.:9:9:9:9:9:9:9:0:9:9:9:9:9.9:9.9.9.9:0.9.0.0:9.0:9.9:9.9:9.9:9.0:9.0:9.9:0.0:0:0:0:0.:0.9.9:9.9.9.9.0.9.0.0.0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXKXXXKXXKXXKXXXKMS/1-6300108-00002XX

TrigonometryExercise8 for No.9016

Nol=[D =90, o.=30° B =60°]
No2=[a=9,b=5,0=60]

No3=[x=72, a=45%y=126]
No4=[a=279,b=61,h=170]
No4=[h=150,N=15,H=4,D, = West, o= 35°, D, = South, p = 50°]
Nod =[h=94, H=168, o.=25°]

Nod =[H =230, o.= 55°, B =35°]
):9:9:9:9:9.9:9.9.9.9.9.9:9.:9:9.9:9.9:9:9:9:9:9:9:9:9:0:9:9:9:9:9.9:9.9.9.9:9.9.9.9:0.0:0.0:9.0:0.0:9.0:9.0:9.9:0.0:9:0:0:0.:0.0.9:9.9.9.9.9.9.0.0.0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXKXXKXXKXMS/1-6300108-00003XX

TrigonometryExercise8 for No.9018

Nol =[D =144, 0.=45° B=60"]
No2=[a=5,b=3, o =45"]

No3 =[x=66,0=60°y=102]
No4=[a=117,b=167,h=160]
No4=[h=175,N=12,H=5,D, = North, o= 55°, D, = East, = 35°]
No4=[h=77,H=185, a=25"]

No4 =[H=310, o.= 60° B =30°]
):9:9:9:9:9.9:9.9.9.9.9.9.9.:9:9.9:9.9:9.:9:9:9:9:9:9:9:0:9:9:9:9:9.9:9.9,9.9:9.9.0.9:0.9:9.0:9.9:0.0:9.0:9.0:9.9:0.0:0:0:0:0.0.9.9:0.9.9.9:9.9.0.0.0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXXKXXKXXKXXKMS/1-6300108-00004XX

TrigonometryExercise8 for No.9036

Nol=[D =132, 0.=45° B =60°]
No2=[a=9,b=3,0=60]

No3=[x=72, a=45%y=114]
No4=[a=91,b=186, h=185]
No4=[h=160,N=20, H=5,D, = West, oa. = 40°, D, = South, = 50°]
Nod=[h=97, H=165, o = 25°]

Nod =[H =200, o. = 70°, B = 30°]
X [Page = 0001] XXXXXXXXXXXXXXXXXKXXXXXKXXXKXXXKXKXXXKXKXKKXKKXKXKXKKKKXKXKXKKXKKXKXKXKKKKX




):9:9:9:9:9.9:9.9.9.9.9.9:9.:9:9.9:9.9:9.:9:9:9:9:9:9:9:0:9:9:9:9:9.9:9.9,9.9:9.9.9.9:0.0:9.0:9.9:0.9:9.0:9.0:9.9:0.0:9:0:0:0.:0.9.9:9.9.0.9.0.9.0.0.0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXKXXKXXXKMS/1-6300108-00005XX
TrigonometryExercise8 for No.9037

Nol=[D =144, 0.=45° B =60°]
No2=[a=6,b=5,0=30°]
No3=[x=84,a=30%y=144]

Nod =[a=226,b=159, h=170]
No4 =[h=150,N=16, H=3,D, = West, a. = 50°, D, = South, p = 35°]
No4 =[h =76, H=180, o.=25°]

Nod =[H =220, o.= 65°, p = 45°]
):9:9:9:9:9.9:9.9.9.9.9.9:9.:9:9.9:9.9:9.:9:9:9:9:9:9:9:0:9:9:9:9:9.9:9.9.9.9:0.9.0.0:9.0:9.9:9.9:9.9:9.0:9.0:9.9:0.0:0:0:0:0.:0.9.9:9.9.9.9.0.9.0.0.0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXXKXXKXXKXXKXMS/1-6300108-00006XX

TrigonometryExercise8 for No.9138

Nol=[D =108, 0 =30° p=45]
No2=[a=6,b=4,0=60°]
No3=[x=96, a.=30° y=144]
Nod=[a=55b=412h=190]
No4 =[h=160,N=17, H=4,D, = East, o.= 35°, D, = South, = 55°]
Nod=[h=111,H=172, 0.=25°]

No4 =[H=270, o.= 65° B =30°]

):9:9:9:9:9.9:9.9.9.9.9.9:9.:9:9.9:9.9:9:9:9:9:9:9:9:9:0:9:9:9:9:9.9:9.9.9.9:9.9.9.9:0.0:0.0:9.0:0.0:9.0:9.0:9.9:0.0:9:0:0:0.:0.0.9:9.9.9.9.9.9.0.0.0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXKXXXKXXKXXKXXKMS/1-6300108-00007XX
TrigonometryExercise8 for No.9602

Nol=[D =90, 0 =45 p=60°]
No2=[a=9,b=8,0=60°]
No3 =[x=96, o= 60° y=144]
Nod =[a=386,b=84, h=185]
No4=[h=145N=12, H=4,D, = South, o.= 35°, D, = West, p = 45°]
Nod =[h=108, H=174, o= 35°]

Nod =[H =260, o.=70°, p = 45°]
):9:9:9:9:9.9:9.9.9.9.9.9.9.:9:9.9:9.9:9.:9:9:9:9:9:9:9:0:9:9:9:9:9.9:9.9,9.9:9.9.0.9:0.9:9.0:9.9:0.0:9.0:9.0:9.9:0.0:0:0:0:0.0.9.9:0.9.9.9:9.9.0.0.0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXXKXXKXXKXXKXMS/1-6300108-00008XX

TrigonometryExercise8 for No.9616

Nol=[D =72, 0=30°p=45]
No2=[a=9,b=8,0=45]
No3 =[x =66, o.=45% y=96]
Nod=[a=110,b=329, h=160]
No4 =[h=150,N=21, H=3,D, = West, a. = 55°, D, = South, p = 35°]
Nod =[h=106, H=171, o.=30°]

Nod =[H =250, 0.=65°, B =40°]
X [Page = 0002] XXXXXXXXXXKXXXXXXXKXXXXXKXXXXXXKXKXKXKXKXKKKKKXKXKXKKKKXKXKXKKXKKXKXKXKKKKK



):9:9:9:9:9.9:9.9.9.9.9.9:9.:9:9.9:9.9:9.:9:9:9:9:9:9:9:0:9:9:9:9:9.9:9.9,9.9:9.9.9.9:0.0:9.0:9.9:0.9:9.0:9.0:9.9:0.0:9:0:0:0.:0.9.9:9.9.0.9.0.9.0.0.0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXXKXXKXXKXXXKMS/1-6300108-00009XX
TrigonometryExercise8 for No.10152

Nol =[D =126, 0 =30° B =60°]
No2=[a=9,b=7,0=45"]
No3=[x=96,0=60°y=144]
No4=[a=62,b=467,h=180]
No4=[h=145,N=18, H=4,D, = West, a.=35°, D, = North, p = 55°]
No4 =[h=106, H=165, a=25"]

No4 =[H =230, o.=70° B =40°]
):9:9:9:9:9.9:9.9.9.9.9.9:9.:9:9.9:9.9:9.:9:9:9:9:9:9:9:0:9:9:9:9:9.9:9.9.9.9:0.9.0.0:9.0:9.9:9.9:9.9:9.0:9.0:9.9:0.0:0:0:0:0.:0.9.9:9.9.9.9.0.9.0.0.0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXXKXXKXXKXXKXMS/1-6300108-00010XX

TrigonometryExercise8 for No.11738

Nol=[D =138, 0.=45° B =60°]
No2=[a=3,b=9, a=45]
No3=[x=96,a=30%y=156]
Nod=[a=112,b=229, h=170]
No4=[h=165,N=21, H=4,D, = West, .= 55°, D, = North, B = 40°]
No4 =[h=75,H=192, 0.=30°]

No4 =[H =270, o.= 60°, B =40°]
):9:9:9:9:9.9:9.9.9.9.9.9:9.:9:9.9:9.9:9:9:9:9:9:9:9:9:0:9:9:9:9:9.9:9.9.9.9:9.9.9.9:0.0:0.0:9.0:0.0:9.0:9.0:9.9:0.0:9:0:0:0.:0.0.9:9.9.9.9.9.9.0.0.0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXXKXXKXXKXXKMS/1-6300108-00011XX

TrigonometryExercise8 for No.11754

Nol =[D =84, o= 30°, B = 45°]
No2=[a=4,b=17,0=30"]
No3=[x=72,0=60° y=126]
No4=[a=143,b=203,h=190]
No4=[h=150,N=12, H=5, D, = South, a. = 55°, D, = East, B=35"]
No4 =[h=102, H= 184, o. = 35°]

No4 =[H =300, o.= 60°, B =40°]
):9:9:9:9:9.9:9.9.9.9.9.9.9.:9:9.9:9.9:9.:9:9:9:9:9:9:9:0:9:9:9:9:9.9:9.9,9.9:9.9.0.9:0.9:9.0:9.9:0.0:9.0:9.0:9.9:0.0:0:0:0:0.0.9.9:0.9.9.9:9.9.0.0.0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXXKXXKXXKXXKXMS/1-6300108-00012XX

TrigonometryExercise8 for No.11841

Nol=[D =84, a.=45° p=60°]
No2=[a=4,b=6,0=45]

No3 =[x =60, a=45% y=108]
Nod=[a=271,b=133,h=175]
No4=[h=145,N=16, H=3,D, = North, a. = 50°, D, = East, p = 35°]
No4 =[h=75,H=181, o.=40°]

No4 =[H =220, o.= 55°, f = 40°]
X [Page = 0003] XXXXXXXXXXXXXXXXKXXXXXKXXXXXXKXKXXXKXKXKXKKXKXKXKXKKXKKXKXKXKKXKKXKXKXKKKKK



);0:9:9.:0:9:9.:0:9:9.0:9:9.0:9:9.0:9:9.0:9.:9.0:9:9.0:0.:9.0:9.:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0:9.0:0:0.0:0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXKXXKXXKXMS/1-6300108-00013XX
TrigonometryExercise8 for No.11842

Nol=[D =90, o.=30° B =60°]
No2=[a=9,b=8,0=60°]
No3=[x=72, a=45%y=114]

Nod =[a=87,b=260, h=175]
No4=[h=165,N=14, H=3,D, = South, o.= 40°, D, = West, p = 55°]
No4 =[h=75,H=189, o.=25°]

Nod =[H =230, 0.=55°, B =30°]

);0:9:9.:0:9:9.:0,9:9.0:9.:9:0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:9.:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:0.0:0:0.0:0:0.0:0:0.0:0:0.0:0:0.0:0:0.0:0:¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXKXXKXXXKMS/1-6300108-00014XX
TrigonometryExercise8 for No.11901

Nol=[D =66, c=45p=60°]
No2=[a=8,b=4,0=30°]
No3=[x=78,a=30%y=126]
Nod=[a=79,b=365h=190]

No4 =[h=160,N=13, H=5,D, = North, a. = 45°, D, = West, p = 35°]
Nod4 =[h=76,H=176, 0.=20°]

No4 =[H =320, o= 65°, p =45°]
):0:0.9:9.9.9.9.9:0.0.9.9.9.9,9:9:0.:0.9.9.9.9,9,9:0.0.90.9.9.9.9.9.:0:0.0.9.9.9.9,9:90.0.0.9.9.9.9,9:0:0.0.9.9.9.9.:9:0:0.9.9.9.9.9.9:0:0.0.9.9.9.9.:9:0.0:¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXXKXXXXKXXKMS/1-6300108-00015XX
TrigonometryExercise8 for No.11947

Nol =[D =132, o= 45°, B = 60°]
No2=[a=6,b=4 0=60"]
No3 =[x=90,a=45°y=132]

Nod =[a=467,b=62, h=170]
No4=[h=160,N=16,H=3,D, = North, o. = 35°, D, = West, 3 =55°]
No4=[h=105H=171,0=35"]

Nod = [H =270, a. = 55°, B = 30°]

):0:9:9.:0:9:9.:0,9:9.0:9.:9:0:9:9.0:9:9.0:9.:9.0:9:9.0:0.:9.0:9.:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0:9.0:0:0.0:0-¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXKXXKXMS/1-6300108-00016XX
TrigonometryExercise8 for No.11989

Nol=[D =84, 0 =30°p=60°]
No2=[a=3,b=6,0=30°]
No3 =[x=96, a=60° y=126]
Nod =[a=386,b=84, h=170]
No4=[h=160,N=21, H=4,D, = North, a. = 35°, D, = East, p = 55°]
Nod =[h=110, H=167, o.=20°]

No4 =[H =220, o.= 60°, p =45°]
):9:0.9.9:9.9.9,9,0:0.0.9.9.9.9.9:0:0.0.9.9.9.9,9:0:0.0.9.9.9.9.9,:0:0.0.0.9.9.9.9:0:0.0.0.9.9.9.9:0:0.0.9.9.9.9.:0,:0:0:¢
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXKXXKXXKMS/1-6300108-00017XX
TrigonometryExercise8 for No.11996

Nol =[D =156, o.= 30°, B = 60°]
No2=[a=3,b=5,0=60"]
No3=[x=72,0=60° y=120]

Nod =[a=133,b=271,h=190]
No4=[h=170,N=15,H=4,D, = South, a =40°, D, =East, B = 50°]
Nod=[h=82, H=189, o.=20°]

No4 =[H =230, o.= 60° B =30°]
):9:9:9:9:9.9:9.9.9.9.9.9:9.:9:9.9:9.9:9.:9:9:9:9:9:9:9:0:9:9:9:9:9.9:9.9.9.9:0.9.0.0:9.0:9.9:9.9:9.9:9.0:9.0:9.9:0.0:0:0:0:0.:0.9.9:9.9.9.9.0.9.0.0.0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXKXXKXXXKXXKXXKXXKXMS/1-6300108-00018XX

TrigonometryExercise8 for No.12889

Nol=[D =132, 0.=30° B =60°]
No2=[a=4,b=3,0=45]
No3=[x=90, a=60°%y=126]
Nod =[a=159, =226, h=180]
No4=[h=150,N=11, H=3,D, = East, o.= 40°, D, = South, = 55°]
Nod4 =[h=76,H=175, 0.=35°]

No4 =[H =250, o.=55° B =40°]
):9:9:9:9:9.9:9.9.9.9.9.9:9.:9:9.9:9.9:9:9:9:9:9:9:9:9:0:9:9:9:9:9.9:9.9.9.9:9.9.9.9:0.0:0.0:9.0:0.0:9.0:9.0:9.9:0.0:9:0:0:0.:0.0.9:9.9.9.9.9.9.0.0.0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXXXXKXXKXXKMS/1-6300108-00019XX

TrigonometryExercise8 for No.12890

Nol=[D =78, 0=30°p=60°]
No2=[a=5,b=6,0=30°]
No3 =[x=90, o= 60° y=120]
Nod =[a=386,b=84, h=185]
No4=[h=160,N=15, H=3,D, = South, o.= 50°, D, = East, p = 40°]
Nod =[h=106, H=183, o= 30°]

No4 =[H =230, o.=70° B =35°]
):9:9:9:9:9.9:9.9.9.9.9.9.9.:9:9.9:9.9:9.:9:9:9:9:9:9:9:0:9:9:9:9:9.9:9.9,9.9:9.9.0.9:0.9:9.0:9.9:0.0:9.0:9.0:9.9:0.0:0:0:0:0.0.9.9:0.9.9.9:9.9.0.0.0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXXXXKXXKXXKXMS/1-6300108-00020XX

TrigonometryExercise8 for No.12891

Nol=[D =84, 0 =30°p=60°]
No2=[a=3,b=4,0=30°]
No3 =[x=60, a.=60° y=126]
Nod =[a=242,b=81,h=160]
No4=[h=175,N=14, H=5,D, = West, .= 55°, D, = North, B = 40°]
Nod4 =[h=105, H=189, o.=30°]

No4 =[H =290, o. = 70°, p = 45°]
X [Page = 0005] XXXXXXXXXXXXXXXXKXXXXXKXXXXXXKXKXXKXKXKXKKKKKXKXKXKKKKXKXKXKKXKKXKXKXKKKKK
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TrigonometryExercise8 for No.12917

Nol =[D =66, o= 30°, B = 60°]
No2=[a=4,b=6,0=30"]
No3 =[x=60, =45 y=120]
Nod =[a=312,b=104 h=160]
No4=[h=165,N=21,H=3,D, = North, o. = 55°, D, = West, 3 =40°]
No4=[h=101, H=172, 0. =40°]

Nod =[H =220, 0.=75°, B =35°]
):9:9:9:9:9.9:9.9.9.9.9.9:9.:9:9.9:9.9:9.:9:9:9:9:9:9:9:0:9:9:9:9:9.9:9.9.9.9:0.9.0.0:9.0:9.9:9.9:9.9:9.0:9.0:9.9:0.0:0:0:0:0.:0.9.9:9.9.9.9.0.9.0.0.0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXKXXKXXKMS/1-6300108-00022XX

TrigonometryExercise8 for No.13099

Nol =[D =60, o= 45°, B = 60°]
No2=[a=4,b=6,0=60"]
No3=[x=72,0=30°y=132]
No4=[a=322,b=70,h=185]
No4=[h=160,N=11, H=4,D, = East, o =35° D, = North, 3 = 50°]
No4=[h=109, H=169, o. = 30°]

Nod =[H =310, o.=70°, p = 45°]
):9:9:9:9:9.9:9.9.9.9.9.9:9.:9:9.9:9.9:9:9:9:9:9:9:9:9:0:9:9:9:9:9.9:9.9.9.9:9.9.9.9:0.0:0.0:9.0:0.0:9.0:9.0:9.9:0.0:9:0:0:0.:0.0.9:9.9.9.9.9.9.0.0.0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXXXXXXKXXKXMS/1-6300108-00023XX

TrigonometryExercise8 for No.13100

Nol=[D=78, a.=30° B =60°]
No2=[a=5,b=4,0=60°]
No3=[x=72,a=30%y=138]
Nod=[a=312,b=104, h=190]
No4=[h=175,N=16, H=5,D, = West, o. = 45°, D, = South, p = 35°]
No4 =[h=79, H=185, o.=20°]

No4 =[H =300, o.=70° B =40°]
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TrigonometryExercise8 for No.13139

Nol=[D =120, 0=30° B =60°]
No2=[a=6,b=17,0=60°]
No3=[x=72, a=45%y=114]
No4 =[a=385,b=51,h=165]
No4=[h=170,N=12, H=4,D, = South, 0.= 35°, D, = West, p = 45°]
No4 =[h=107, H=181, o.=30°]

No4 =[H =240, o. = 55°, p = 40°]
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TrigonometryExercise8 for No.13411

Nol =[D =138, o= 45°, B = 60°]
No2=[a=5,b=8,0=30"]
No3=[x=78,a=60° y=132]

Nod =[a=440,b =58, h=175]
No4=[h=175,N=11,H=3,D, = East, .= 35°, D, = South, B = 50°]
No4=[h=110, H=168, o.=25°]

Nod =[H =290, o.= 65°, B = 40°]
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